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EXAMPLES

Convert the equation from standard form into slope-
intercept form.

2x+7y=14 —6x +3y=-12

-9x -3y =12
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EXAMPLES

Convert the equation into slope-intercept form and find
the slope and y-intercept.

-3x-2y=-8 —5x—y=-12





image9.png
PRACTICE

Copy the linear equation which is in standard form.

3
=——X+7 -
y 4

3x+4y =28

Convert the equation into slope-intercept form and find
the slope and y-intercept.

4x+3y =12 -8x-2y=-14




image10.png
FINAL QUESTION

Convert the equation into slope-intercept form and find
the slope and y-intercept.

2x-5y =30
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WARM-UP
1) Copy the equation that is in slope-intercept form
(y = mx +b).

a)y=-3x-6 b) 3x+y=-6

2) Find the slope and y-intercept.
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Convert from Standard into Slope-
Intercept Form

How do we graph a linear function if it is not in slope-
intercept form?

y=—§x+2 2x+5y=10
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NOTES

We can rewrite equations to get any variable by itself.

Examples
Rewrite the equation so that t is by itself.
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Rewrite the equation so that C is by itself.

9c+32=F
5
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NOTES

When a linear equation is in the form Ax + By = C, where
A and B are the integer coefficients of x and y, it is called
standard form.

Examples
Copy the linear equation which is in standard form.
y=-3x+7 3x+y=7

y=—-x—-4 3x-2y=8
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NOTES

To switch an equation from standard into slope-intercept
form (y = mx + b) rewrite the equation so y is by itself.

Examples
Convert the equation from standard form into slope-
intercept form.

4x+y=7 6x +2y=12





